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1 TRE A NS AR A047 Hm 5% fji+ 81. 49 e
2 V323 A$L AR A015 Hm % it - 80. 17 e
3 7y} NS AR A050 Hm % i - 79.93 e
4 EE R N DA A049 Hm 5% fji 78. 29 e
5 R NP AR A015 Hm % fji+ 75. 60 o
6 LR NS AR A048 Hm % it - 73.89 e
7 R4 N DA A050 Hm % fji+ 73.87 &
8 X6 A$E AR A048 Hm % fji+ 72. 14 e
9 ipg N AFE AR B008 Sy % fji+ 71.65 e
10 wE A$E AR B004 Sy 5 fji -+ 68. 58 v
11 FH S 0 NS AR B004 Sy % fji 59. 52 o
12 HINERFLR « 3T FER NP AR B008 S E’8 fisi 1 58. 80 &
13 W AFE AR A050 e[ % fji 58. 52 o
14 eI NS AR B004 Sy % it - 57.93 o
15 BRI KGHE « B 5 /R AT A015 i % i - 57. 90 o
16 s NS AR A048 e[ % fji+ 56. 70 o
17 2R A$E AR A015 e[ % fji+ 56. 56 o




P 2% T 1k A 1

REHANR

P 4 FBe/ I %% B AL i % KL el =35 fdor T %(;é.;;ﬁ]:

23
18 ZERUAE NS PR A050 Hm % fji+ 56. 48 o
19 F5IR « RIEJTH NI PA R AO11 om « it £ 54. 66 &
20 TRt NFE AR A048 o E’8 i+ 49. 59 &
21 X ST NFE AR A011 o E’8 fist £ FAL o
22 Bkt NP AR A015 o E’8 fist £ FAL o
23 ZIRE N DA A015 o E’8 fist +: FAL o
24 X1/ 3% NFE TR A015 o % it =+ FAL o
25 BORYE LN « TEA NI A015 o % fil FAL 7
26 i NP AR A015 o % it =+ FAL o
27 BT O T = K E /R NI A047 it % it FR %
28 M e N DA A047 Zom E’8 fist £ FAL o
29 R NP AR A047 Zom % it FAL o
30 THE NP AR A047 o % fist £ FAL o
31 R NP AR A048 Fom % it =+ FAL o
32 F3CUE NP AR A048 o E’8 fist £ FAL o
33 P N A A048 o % fist +: FAL o
34 HES NFE TR A049 o % it FAL o
35 HITJERE IR « L FEhE NFETAEZERE A049 o % fist £ FAL o
36 TRECAE < B ARTL N A A A049 o % it =+ FAL o
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37 T2 NP AR A049 o E'8 fist £ FAL o
38 BONNAL « ARANRL & NFE TR A050 o % it =+ FAL o
39 GER R AR NFE AR A050 o % i =+ FAL o
40 Eivid NFE AR A050 o E’8 fist £ FAL o
41 BIRYAR NP AR A050 o E’8 fist £ FAL o
42 PARF I - KD 5T NI A050 it i it TR %
43 ISP N A A050 o E’8 fist £ FAL o
44 AR NFE TR A050 o % it =+ FAL o
45 XN NP AR B004 Sy E’8 it =+ FAL o
46 AHOEAR NFE TR B004 Sy £/8 fist +: FAL o
47 TR NFE TR B004 Sy £/8 fist £ FAL o
48 it NP A B008 S % it =+ FAL o
49 o e P b A043 o 8 it - 57.32 &
50 TP 2 e A043 o E’8 fist £ FAL o
51 HREIR « G 8 BLAfi I Bt A041 Fom & it 70. 40 e
52 L] BLhh e 2 B A006 o %« il 67. 40 =
53 LER LAt 77 B A041 #m % fji+ 66. 60 &
54 PR At = o e A042 i % it - 65. 30 &
55 Tt At B2 o e B002 Sy % it - 64. 40 &
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56 HNTSSIR « BIA TR FERhEE B A041 o E/8 it - 64. 00 v
57 528 HEAith = o e A041 Hm % fji+ 57. 50 o
58 Wit HeAith B2 o e A005 Hm % fji+ 57.40 o
59 FHIEE « FIpA LAt = 77 B A041 i S it - 56. 80 o
60 B FERHEE 2B A042 #Um % it - 56. 80 o
61 T HeAitt B2 o e A004 e[ % it - 56. 10 o
62 KA « RAIIT HeAith B2 o e A008 Him % it - 56. 00 o
63 G E VA WAL FeAith B2 o e A006 #m % fji+ 55. 40 o
64 Lip) 2 FEAMh = 2 B A042 Hm % it 1 55. 10 o
65 Kk FERHEE 2B A006 Him % it - 55. 00 o
66 MmN E. « 3 HeAitt B2 o e A005 #m % fji+ 54.90 o
67 TN N LR 2B A042 Zom % i+ 54. 10 &
68 FERRAL FERHEE 2B A005 Hm % it - 54.00 o
69 A FEAHEE 2B A008 HUm % it - 53. 80 o
70 JEEE FERHEE 2B A041 e g % it - 53. 60 o
71 FFHEH At B2 o e A005 Q[ % it - 52.90 o
72 BARPL « HITHR LAl - b A008 o & fist £ 49. 40 &
73 AT BT AR« e b BLhh e 2 B B002 G /8 fit -t 49. 40 %
74 2L At B2 o e A005 e[ % fji+ 49. 20 o
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75 NS BEfti R Bt A005 Fom 8 fiit 49. 20 &
76 Bif 2 T« VAR HeAith B2 o e A004 Hm % fji+ 46. 40 o
7 BT T « BT S A BR HEAith = 5 e A041 Hm % i - 46. 20 o
78 X4k At FERbEE 2B A008 o % it - 44. 00 &
79 HTZE PR « /R BEAfi I Bt A041 Fom % it 1 43. 80 &
80 1)t St = 2 Bt A042 Hm % it - 42. 60 o
81 VRN Behh e 2 B A005 it /8 i+ FR %
82 SR ST TP S FEAlE 2B A006 o 8 it £ FAL o
83 AT FEflE B A008 o E’8 fist £ FAL o
84 ok BEffiR Bt A008 o % it FAL o
85 Z e FEAiti = 5 B A008 Hm % fisi £ FAL 5
86 FIRMEEL « ZERIT SRS b A008 o % bt FAL %
87 R BLhh e 2 B A008 it /8 i+ FR %
88 5K %5 45 Behh = 2 B A008 it % fit -t FR %
89 1 B AR« BT R FERHEE 2B A041 o % il FAL o
90 1 A5 LR 2B A041 o 5 fist +: FAL o
91 X FERHEE 2B A041 o % it =+ FAL o
92 THE FERHEE B A041 o £/8 fifi FAL &
93 B pea BEti R Bt A041 o E’8 fisi + FAL o
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94 HEFCIEE. M /RS $ BLAh e 2 B 2041 2o % it FAL %
95 BEH FERhEE 2B A041 o E'8 fist £ FAL o
96 Z[EE FERHEE 2B A041 o E’8 fist £ FAL o
97 LT - G2 BLnh e 2 B A041 2o /8 bt FAL %
98 JA FERHEE 2B A041 o E’8 fist +: FAL o
99 FI5¥ FERhEE 2B A042 o E’8 fist £ FAL o
100 KA FF FERhE 2B A042 o E’8 fist £ FAL o
101 Wk 1 3] eSS A039 #m % R 55. 33 o
102 MAJB A « FKAR A A039 o % [ 46. 00 &
103 KA R = TREROR 2B A036 i % it - 54. 09 o
104 L i B2 27 TR ROR 2 B A024 #om % fit +- 48.73 &
105 BYUREE « 0T | TR AR SR A036 om E’8 fiil+ 36. 82 &
106 R P& 2 TR 2B A024 o 5 fist +: FAL o
107 FRR P& 2 TR 2B A036 #om % fist £ FAL o
108 7] P 2 TR 2B A036 o 5 fist £ FAL o
109 £l P& 2 TR 2B A036 o % fist £ FAL o
110 b« BBTHEH 5 P2 TR RR 2B A036 o by fit -t FAL %
111 Ui ) S b A035 g % fiji+ 57.87 ?‘:?
112 VL THEAR B b A035 o % fit -t 57.83 %
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113 FLIETE [EE=R A A035 Hm % i - 56. 60 o
114 T A & b A035 e[ % it - 56. 20 o
115 JAER IEER A A035 Hm % fji+ 54.93 o
116 &30 B F B A035 o E’8 i+ 52. 37 &
117 2 el B F B A035 o E’8 it 31. 67 &
118 R B F B A035 o % it =+ FAL o
119 5 H BT S b A035 it % fit -t FAL %
120 R B F b A035 o £/8 fist £ FAL o
121 IS S B F B A035 o £'8 fist £ FAL o
122 XSO B F B A035 Zom £'8 fist +: FAL o
123 A - b7y BT S b A035 it % fit -t FAL %
124 R SRV A033 #m % it - 57.32 o
125 252 R 2R A034 Hm E'8 it - 57. 00 o
126 B %7 R 2R A034 HUm % it - 56. 64 o
127 T e s RS2 A033 e Q[ % it - 55. 84 o
128 B R 2R A034 Q[ % it - 55. 47 o
129 KAk f R 2R A033 i % it - 54. 14 o
130 5 = 2B A033 g % it - 51.69 o
131 JEREE B S e A034 e[ % i - 51.43 o
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133 FiAL Hh & 5 B A033 o E'8 fist £ FAL o
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135 PN & 2B A033 o E’8 fist £ FAL o
136 SR & 2B A034 o £/8 fist +: FAL o
137 PR & 2B A034 o % fist £ FAL o




